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v1:=v/REF(V,1)>0.3 and REF(V,1)>REF(V,2) and
DYNAINFO(23)>DYNAINFO(22);Zic1E5E]%

pl:=(c-REF(C,1))/REF(C,1)<0.04 and c>o0 and REF(C,1)>REF(O,1);IH5E{%

tl:=barslast(ma(c,5) <ref(ma(c,5),1))>=1 and
barslast(ma(c,5)<ref(ma(c,5),1)) < = 3;1888{&3k

sl:=REF(ma(c,5)>ma(c,10) and c>ma(c,5) and c<ma(c,10)*1.15,1); 21858/
EiZ:vl and pl and t1 and s1;E8{&3kiH
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( =FKEkER> =3 , 3MEEHFEFME2/LEKE ) FKIBTEE
ZDF:=(C-REF(C,1))/REF(C,1)*100;AA:=ZDF>9.8:5k{=#x:=SUM(AA, 10); 3K{ZiES
H:=BARSLAST(AA), =3k{=:k{Etk > = 3, ESCEWIEF 15 KA 2 KIESRIERR
U0 ~ZDF:=(C-REF(C,1))/REF(C,1)*100;AA:=ZDF>9.8; 5=t =SUM(AA,16); 3K
{255 H:=BARSLAST(AA); XK 3MEIR > = 2,183k fG XKiE KEBBRIEEBR T
B EXAR 10 H 55 BBIRT LAN N FEEiE Z a2k iHEE R
KBIAENKYIRHKEAT ?

BIAENKYLIRKEATVANT ¢
N:=30;
A:=C/REF(C,1)>=1.099;
B:=REF(COUNT(A,N)=0,1);
D:=C/REF(C,1)>=1.099;
XG:A AND B AND D,

ERTPEEBNAENE— N RARNEIERE | SRFENERTHLKFIEIRER
BRLE  EN. &S, REN. FENHS. REEGRRATLIECRIEK
EBEKE , BAILURES CHEXET REIRITHATURKEIB CRrEIERIRg |, X
NARTCBATHOER AT, RAMRERAZNTNT5.007THIRE |, BBAMRRER—
23 0 ¢>5.00 ; XN HEEREANEKR AT

—. BERFHERATIRERE—IZRATL , BXIEH "RINVNTERFES" /Y
MR, BARNEERSE |, i —FHPERATHORRERE "TIREaERAEF A
B [ BALAEESRAEL.
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A, /E "WUEHAIN | EERULEY , /E RE REREAT.

3/3


http://www.tcpdf.org

